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Inorganic Chemistry-1
T.3H, FirstPaper M. M.50

e = (1) FOT-81 3 61 99 aifvramd § 1 57 et & oo el 30 98t oo G & |
TS AT 1 (2) T 9l T @ o O (a7) arerar (a) &1 =T B
&% B UM 95 & I S S 9 T I T 250 9 Bl 2 | TP T
375 319 T % | (3) -8 50 9T g A e D R AR | A 5 I
W S00 9T 7 81 1 IR0 557 7% o7 1 3 | -
AFT-3T 1.H, 991 He, o1 & a7 5 oy 2 7
Whatare the bond orderin H, and He, ions.
2.SP’d* T d’SP’ Hawor & a7 ot & ?
Whatis the difference in SP’d? and d’SP’hybridisation.
3. P41 SF39Ta 1 ofemifer R7T | Define Radius Ratio, o
4. Agel 9%% § S4fF Agldrar # ? Why Agclis white butAglisyellow ?
5. T & 91 519 4t S-gve a1 A R |
Name the S-block element presentin chlorophyll.
6.Li T Be & el & @ ol deg waq B 1
Name the elements which are diagonallyrelatedto Liand Be, -
7. ST BT T TR @i | Draw structure of Borazine,
8. B.H, &I €33 TET | Draw the structure of B,H,. .
9. 11A T IIB T % I 4 0% T 8 99% 3 3 R B oifirasds
I %Y & ? Which reagent in usedio separate ITA group radicals from IIB.
10. 99 31147 9919 747 & 2Whatis common-ion effect 7
AT §-FB - 1. 1.(31) IHLRR ed £ 7 SPYaen dSP daer & T SRR
#fed T9EET | What is'hybridisation ? Explain SP’ and dSP’* hybridisation
with one example. ’ - 94 /OR |
() frifeiad eTvetl =t gt Td Tetor &1 TR v | Give the shape and
types of hybridisation in the following molecules. Pcl, Xefﬁand [Cu(NH,),]
518 - 12) () Trars Fott bt afeqmr fifaa | G?ma%ﬁaamaﬁﬁqm
Q7 TG Al i Te® Fot (R B 2 | Define the lattice energy. Discuss
lh\c factors on which the lattice energy ofion_ic compound depends.3M¥4r /OR
(a)aﬁwa%w%?wwfjmfm ]
| ‘hat1s Born-l-lubercycle'?-Exp ain with example.
mvym 3.(3) AT & el & o H wH qﬁﬁa‘ﬂfﬁ\ﬁ“ﬂfﬁﬁaﬁj Ti‘l{z:
aarzt | Explain the periodic trend in the properties of I/ group on the basis
:T,ﬂ):;mq:{ riia'qa lonisation potential (b.)wrg fﬂfﬂf Atomic radn.GTqa.I/OI} ]
- o e 3E & g 1 R av gfarg feugefi ffEe - In connection with
S ollowing : (i) €= 3 Faree 3 719 o1
cement industry, write a shortnote on following :

Tt F=d J Raw materials for manufacturc of cement.
TT \ ¢ . i
R L L. (#&7) Setting of cement.
(”)quﬁ.ﬁ =
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TR -IV. 4. (31) oifeRd I 5o § F1 AT & TUGRT TAETT 31 G & Y |
Whatis 'Inert Pair effect' ? Explain it with suitable exan jsle. 391 /OR
(F) G9=1ZT : Explain: (i) CO, 9 & S1@% Sio, 314 & 1 Co, is gas while
Sio,is solid. (ii) FTE aga= a1l & | TAfeh Al 81 awra |

‘ Carbon forms multiple bond but silicon does not form.

THR - V. 5. (37) a0 gert 9 o9 1 G & ?tﬁr@fﬁazﬁif?rﬁmm
Bt fefa ot & ? Tamafs g ated goi S |

What do you understand by interfering radicals ? How the phosphat
radical removed ? Describe with chemical equation. 39qr /OR

() (1) Gfzam FEHe F=pd w4 3898 I9AFT T4EU Explain Sodium
Carbonate extract and its uses . (i) 9#EY : f&ig g9 4 dg Hel =T &
POt | Explain: Toadd dil Hcl acid in Il group.

TT-H 1. () N,, O, T O, & 31 F&¥F o 20 qYT T[T 1 Tw<ebH, T
uq ﬂqﬂﬁﬂ Ugit 2T | Draw molecular orbital diagram of N,, O, and O, and
State bond order, stability and magnetic behaviour of these molecules.

2. Nacl %l &= 3 fa@aT #IQ G B-ogue & e 97 569

SUHEHYISTH HEAT g SHR &z | Discuss the structure of Nacl. On the basis
ofradlus ratio, give its coordination number and geometry. :

3. 1 1 & Fifa Ekplam the following:

(1) & ‘Eﬂ@Q YT STIEES & 1L Alkali metals are goodreducing agents.

(i1) & TaT ATg 3o e fmar fofaw 1 3 eifies fpasier 47 2t B

Give electronic cenfiguration of alkaline earth metals. Why they are
more reactive.

(Ill)Be%Tmﬁmﬂﬂﬂﬁﬁﬁa%

Properties of Be are different from other a]kdline earth metals.

4. GrH=e JAM %1 {99391 9T | Write an account of 'cement’ industry.

5.(1) fercraar TR | g 8 ¢ IO feeer § faerma e
T 4-TaT & 99 H 68 JR I9arT & ? §HEET |

What do you understand by solubility product ? How solubility product
prmuplt, isuseful in separation of caution ? Explain.

(i) f&dia (11A 9 [1B) 69e & gl & = fafaa |

Write the names of second group (1IA and I1B) radicals.
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